


 

 

     

Q1.The present participle of 'Arise' is: 

(a) Arose       (b) Arises 

(c) Arising       (d) Arisen 

Q2.He is a fair-weather friend, means: 

(a) A good friend      (b) A favourable friend 

(c) One who deserts you in difficulties   (d) A best friend 

Q3.To burn the candle at both ends, means: 

(a) To work very hard      (b) To be in hurry 

(c) To be greeted rudely     (d) To get puzzled 

Q4.'Bonhomie' is the synonym of: 

(a) Openness       (b) Intimacy 

(c) Emptiness       (d) Friendliness 

Q5.The art of reporting the words of a speaker is called as: 

(a) Preposition       (b) Articulation 

(c) Vocabulary      (d) Narration 

Q6.Choose the correct word: 

Both the sisters are equally pretty but the elder………….the two is more intelligent. 

(a) of        (b) between 

(c) in        (d) among 

Q7.Complete the following: 

Act: action:: arrive : 

(a) arrived       (b) arriving 

(c) arrival       (d) depart 

Q8.A group of donkeys is called: 

(a) team       (b) train 



 

 

     

(c) stud       (d) drove 

Q9.The noun 'Epoch' stands for: 

(a) A tool that is used in the house    (b) A female sheep 

(c) A strong desire for something    (d) A period of time in history 

Q10.Correct the following sentence: 

The poet and critic have been honoured. 

(a) The poet and critic had been honoured.   

(b) The poet and critic has been honoured. 

(c) The poet and critic have been honoured. 

(d) The poet and critic been honoured. 

Q11. Identify the part of speech of the underlined word: 

The boys ran round the tree. 

(a) adjective       (b) adverb 

(c) noun       (d) preposition 

Q12. The phrase 'Pyrrhic Victory' stands for: 

(a) easy victory      (b) honest victory 

(c) victory at a high cost     (d) victory at a low cost 

Q13.The feminine word of 'Tutor' is: 

(a) Nun       (b) Governess 

(c) Mistress       (d) Miss 

Q14.The antonym of the word 'Juvenile' is : 

(a) Mature       (b) Injustice 

(c) Eager       (d) Attention 

Q15.The synonym of the word 'Hysteria' is: 

(a) great       (b) neurosis 



 

 

     

(c) transient       (d) stimulus 

Q16.Select one word for: 

A place with a good climate for invalids. 

(a) Sanatorium       (b) Restaurant 

(c) Sanctuary       (d) Graveyard 

Q17.Choose the suitable option that describes the meaning of the underlined phrase: 

No one but his conscience advised him to come back to earth. 

(a) return home      (b) return to earth 

(c) return to reality      (d) be honest 

Q18.Fill in the blank with the most appropriate option : 

He generally……………. at an odd hour. 

(a) turns over       (b) turns on 

(c) turns up       (d) turns off 

Q19.The noun 'doctrine' means: 

(a) the most important quality of something 

(b) a belief held and taught by a church 

(c) trust in somebody's ability 

(d) able to guess 

Q20.The masculine word of 'Lady' is : 

(a) Lord v       (b) Heir 

(c) Prince       (d) Lad 

Q21.Abstract noun of 'King' is: 

(a) Dictatorship      (b) Manhood 

(c) Ownership       (d) Kingship 

Q22.'Malevolence' is the antonym of: 



 

 

     

(a) Apathy       (b) Inhumanity 

(c) Generosity       (d) Humane 

Q23.Fill in the blank with the most appropriate option: 

He was kind enough to ………………….to my request. 

(a) exceed       (b) accede 

(c) axed       (d) asceed 

Q24.Choose the odd pair of words: 

(a) Goldsmith: Ornaments     (b) Carpenter: Saw 

(c) Barber: Scissor      (d) Blacksmith: Anvil 

Q25.The synonym of 'Inexorable' is : 

(a) Lenient       (b) Relentless 

(c) Sensational       (d) Irresolute 

26. The antonym of 'conflate' is : 

(a) Divide       (b) Manage 

(c) Meld       (d) Agree 

Q27.Fill in the blank with the most appropriate option : 

In about 10 minutes, we………..for about three hours. I think that's enough 

(a) have been studied      (b) will have been studying 

(c) will be studying      (d) have studied 

Q28.Fill in the blank with the most appropriate option : 

I can see that there is a ………….of chips, shall I get some more? 

(a) platitude       (b) garrulous 

(c) dearth       (d) ton 

Q29.Someone who travels and visits a lot of different countries is called:  

(a) athletic       (b) cosmologist 



 

 

     

(c) jet-setter       (d) masochist 

Q30.The synonym of 'abrogate' is: 

(a) Ratify       (b) Complexify 

(c) Nullify       (d) Simplify 

Q31.Choose the odd word from the group: 

(a) Marigold       (b) Lotus 

(c) Rose       (d) Lily 

Q32.A person who speaks many languages is a: 

(a) Polyglot       (b) Ventriloquist 

(c) Linguist       (d) Philologist 

Q33.To set ones face against, means: 

(a) To get out of difficulty     (b) To look at one steadily 

(c) To be determined not to do something   (d) To judge by appearance 

Q34.The meaning of the idiom 'be the devil's advocate' is: 

(a) To judge something as bad     

(b) To plead for a bad person. 

(c) To present a counter argument    

(d) To help someone who has an evil nature 

Q35.The synonym of 'avarice' is: 

(a) aspiration       (b) influence 

(c) greed       (d) generosity 

Q36.Fill in the blank with the most appropriate option: 

The law cannot and should not pardon such……………..act of violence. 

(a) a dull       (b) a cautious 

(c) a flagrant       (d) a lavish 



 

 

     

Q37.Select one word for 'Garden of fruits': 

(a) Orator       (b) Lawn 

(c) Orchard       (d) Groove 

Q38.Find out the correct answer for 'De Jure'. 

(a) According to Law      (b) According to Subject 

(c) According to Government     (d) According to Act 

Q39.Which one is the correct preposition for the sentence? 

He cut his finger………….a knife. 

(a) by        (b) through 

(c) off        (d) with 

Q40.Fill the correct verb: 

The train will not have……………Mumbai. 

(a) reach       (b) reachs 

(c) reached       (d) reaching 

Q41.Fill up the series: 

B2CD, …………,BCD4, B5CD, BC6D 

(a) B2C2D       (b) BC3D 

(c) B2C3D       (d) BCD7 

Q42.Which one does not belong to the group? 

(a) April       (b) August 

(c) July        (d) December 

Q43.If L denotes 'x', M denotes +, P denotes + and Q denotes - then 

16P 24M 8Q 6M 2L 3 = ? 

(a) 
  

 
             (b) 

  

 
        



 

 

     
(c)14 

 

 
             (d) 10 

Q44.Select the odd one from the group: 

(a) Sugar       (b) Black Pepper 

(c) Red Chilli       (d) Coriander 

Q45.Mohan is older than Prabir, Suresh is younger than Prabir. Mihir is older than Suresh but 

younger than Prabir. Who among the four is the youngest? 

(a) Mohan       (b) Prabir 

(c) Mihir       (d) Suresh 

Q46.Rakesh ranks 7th from the top and 28th from the bottom in a class. How many students are 

there in the class? 

(a) 34        (b) 35 

(c) 36        (d) 37 

Q47.Complete the series : 

TEA, UFB,………….WHD 

(a) VGC       (b) XIC 

(c) VJD       (d) XIZ 

Q48.Find the odd sportsman from the list: 

(a) Virat Kohli       (b) Kapil Dev 

(c) Dhyan Chand      (d) Yuvraj Singh 

Q49.Complete the following: 

Spider: Insect :: Crocodile :…………… 

(a) Reptile       (b) Mammal 

(c) Frog       (d) Carnivore 

Q50.A person can walk a certain distance and drive back in 6 hrs. He can also walk both ways in 

10 hrs. How much time will he take to drive both ways? 



 

 

     
(a) 2 hours       (b) 2

 

 
 hours 

(c) 5 
 

 
hours       (d) 4 hours 

Q51.Given below is an idiomatic phrase. Choose from the alternative that best expresses the 

meaning of the expression. 'Have the last laugh’: 

(a) Be of a cheerful nature 

(b) Laugh only after understanding something. 

(c) To be victorious at the end of the day 

(d) To crack the final joke 

Q52.Choose the appropriate pair of words to fill the blanks: 

The……………attitude of the government in tackling the problem of the Army personnel has 

made the………….. 

(a) Haughty, Pathetic      (b) Adamant, Afraid 

(c) Arbitrary, Restive      (d) Uncared, Restless 

Q53.Choose an antonym for 'Forsake': 

(a) Maintain       (b) Renounce 

(c) Relinquish       (d) Disown 

Q54.Fill in the blank: 

7, 15, 31, 55,……….127 

(a) 41        (b) 77 

(c) 47        (d) 87 

Q55.A man said to a lady "The son of your only brother is the brother of my wife." What is the 

lady to the man? 

(a) Mother       (b) Sister 

(c) Sister of father-in-law     (d) Grandmother 

Q56.Fill in the blank: 



 

 

     

-4,-1, 4, 11, 20,…………… 

(a) 30        (b) 31 

(c) 32        (d) 33 

Q57.Fill in the blank : 

3:4:59: …………: 41 

(a) 35         (b) 40 

(c) 45        (d) 12 

Q58.If the following series is written in the reverse order, which number will be third to the right 

of the sixth number of the left? 

6, 2, 1, 0, 5, 11, 13, 7, 3, 9, 7, 0, 3, 8, 4 

(a) 13        (b) 5 

(c) 9        (d) 0 

Q59.If today is Monday then what will be the day of week after 49 days? 

(a) Friday       (b) Saturday 

(c) Sunday        (d) Monday 

Q60.Complete the following: 

MH, NI, OJ,………………. 

(a) PT        (b) PK 

(c) SP        (d) KP 

Q61.What is India's rank in the 2018 Human Development Index?  

(a) 130
th

       (b) 125
th

 

(c) 108
th

       (d) 95
th

 

Q62.India borrowed the idea of Directive Principles of State Policy from the Constitution of: 

(a) Republic of Germany     (b) Ireland 

(c) South Africa      (d) Australia 



 

 

     

Q63.Which one of the following is a federal feature of the Indian Constitution? 

(a) A written and flexible Constitution 

(b) An independent Judiciary 

(c) Vesting of residuary powers with the Centre 

(d) Distribution of powers between the Centre and States 

Q64.Which one of the following rights was described by Dr. B.R. Ambedkar as the heart and 

soul of the Indian Constitution? 

(a) Right to freedom of religion    (b) Right to property 

(c) Right to equality      (d) Right to Constitutional remedies 

Q65.The concept of Public Interest Litigation originated in: 

(a) United Kingdom      (b) Australia 

(c) United States      (d) Canada 

Q66.When an organization is unable to honour its financial obligations or make payment to its 

creditors, it has an option to file for: 

(a) appropriation      (b) liquidation 

(c) arbitration'       (d) bankruptcy 

Q67.Brenda Hale was sworn in as first female president of the Supreme Court in: 

(a) USA       (b) France 

(c) UK        (d) Germany 

Q68.Among the following, which country suffered disintegration due to political fight on the 

basis of religious and ethnic identities? 

(a) Yugoslavia       (b) India 

(c) Netherlands      (d) Belgium 

Q69.Who has become the first woman lawyer to be directly promoted as a Judge of the Supreme 

Court (SC)? 

(a) Roma Joseph      (b) Sudha Misra 

(c) Meenakshi Arora      (d) Indu Malhotra 



 

 

     

Q70.In India, the term of the office of Governor is: 

(a)Three years       (b) Four years 

(c) Five years       (d) Six years 

Q71.The total number of judges in Supreme Court including the Chief Justice of India is: 

(a) 29        (b) 25 

(c) 33        (d) 31 

Q72.The age for registration as a voter under the Constitution of India is: 

(a) 21 years       (b) 18 years 

(c) 20 years       (d) 25 years 

Q73.How many languages are recognized under the Constitution of India? 

(a) Twenty one      (b) Twenty eight 

(c) Twenty two      (d) Twenty six 

Q74.A person can remain a minister in the Union Cabinet without being a member of either 

House of Parliament for a maximum period of: 

(a) Six months       (b) Three months 

(c) Eight months      (d) One year 

Q75.Who amongst the following discharges the functions of President of India in the absence of 

President and the Vice-President? 

(a) Prime Minister of India     (b) Chief Justice of India 

(c) Speaker of Lok Sabha     (d) Cabinet Secretary 

Q76.The Chairman of Constituent Assembly for India was: 

(a) Dr. Zakir Hussain      (b) Dr. Rajendra Prasad 

(c) Dr. S. Radhakrishnan     (d) Dr. B.R. Ambedkar 

Q77.The Preamble of the Indian Constitution adopted on 26th November, 1949 did not include 

the terms: 

1. Socialist 2. Secular. 3. Integrity 4. Republic 



 

 

     

Select the correct answer from the options given below: 

(a) 1, 2 and 3       (b) 2, 3 and 4 

(c) 1, 2 and 4       (d) 1 and 2 

Q78.The Council of States is presided over by: 

(a) Vice-President 

(b) Prime Minister 

(c) Secretary General of Rajya Sabha 

(d) Senior Most Member of Parliament 

Q79.The Supreme Commander of the Indian Defence Forces is: 

(a) The Prime Minister     (b) The Defence Minister 

(c) The Vice-President     (d) The President. 

Q80.Total number of members of the Lok Sabha cannot be more than: 

(a) 545 Members      (b) 543 Members 

(c) 560 Members      (d) 550 Members 

Q81. Judges of the High Courts are appointed by the President on the recommendation of: 

(a) Prime Minister      (b) Attorney General 

(c) Collegium of Judges of Supreme Court   (d) Law Minister 

Q82.The Constitution of India was adopted on: 

(a) 26th November, 1949     (b) 26th January, 1950 

(c) 15th August, 1950      (d) 26th October, 1949 

Q83.The number of Lok Sabha members who can table a 'No Confidence Motion' against the 

Council of Ministers is: 

(a) 30        (b) 40 

(c) 50        (d) 60 

Q84.In India seats are reserved for women in:  



 

 

     

(a) Lok Sabha       (b) State Legislative Assembly 

(c) Union Cabinet      (d) Panchayati Raj bodies 

Q85.Which one of the following offices is held during the pleasure of the President of India: 

(a) Vice-President      (b) Governor of a State 

(c) Chief Justice of India      (d) Chairman of UPSC 

Q86.NGT stands for: 

(a) National Green Tribunal     (b) National General Tax 

(c) National Global Technology Initiative   (d) Nuclear Green Technology 

Q87.To promote women's rights globally, which country has launched its 'Feminist Foreign 

Policy' manual? 

(a) India       (b) Japan 

(c) Germany       (d) Sweden 

Q88.'Mansab' in the Mughal administration was a : 

(a) Tax        (b) Unit of measurement 

(c) Rank/grade       (d) Legal expert 

Q90.Agiaries or Fire Temples are the place of worship for the: 

(a) Jews       (b) Meijis 

(c) Khasi       (d) Parsis 

Q91.Which among the following communities of Rajasthan is particularly famous for their 

commitment to protect Khejari tree? 

(a) Gogoi       (b) Bishnoi 

(c) Maori       (d) Bakarwal 

Q92.Who among the following was the first woman Chief Minister of an Indian state? 

(a) Mayawati       (b) Mamata Banerjee 

(c) Jayalalithaa      (d) Sucheta Kripalani 

 



 

 

     

Q93. Marriage rule which requires from an individual to marry outside of his/her own group 

 is called: 

(a) Endogamy       (b) Exogamy 

(c) Monogamy       (d) Bigamy 

Q94.Which country has declared the ancient Hindu religious site of 'Panj Tirath' as national 

heritage? 

(a) Nepal       (b) Bangladesh 

(c) Pakistan       (d) Myanmar 

Q95.The first modern industry to develop in India was: 

(a) Iron and Steel Industry     (b) Cement Industry 

(c) Cottage Industry      (d) Engineering Industry 

Q96.Which of the following High Courts has the largest number of Benches? 

(a) Kolkata High Court     (b) Guwahati High Court 

(c) Madhya Pradesh High Court    (d) Bombay High Court 

Q97.Which of the following countries is not a member of SAARC?  

(a) Bangladesh      (b) Nepal 

(c) Afghanistan      (d) Pakistan 

Q98.With reference to the colonial period of India, the trade monopoly of the East India 

Company was ended by: 

(a) The Regulating Act of 1773    (b) The Charter Act of 1813 

(c) The Indian Council Act of 1861    (d) Pitt's India Act of 1784 

Q99.Which of the following is not a condition for becoming a citizen of India? 

(a) Birth       (b) Descent 

(c) Naturalisation      (d) Acquiring property 

 

 



 

 

     

Q100. Where was India's 1 plant to produce diesel from plastic waste setup? 

(a) Agra       (b) Mathura 

(c) Lucknow       (d) Gorakhpur 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

     

 

 




